209 5HP 1PH Stand Assembly

Product Images

7/4/25
https://jpw-catalog-gqa-b2c-2.corevist.cloud/209-5hp-1ph-stand-assembly



https://jpw-catalog-qa-b2c-2.corevist.cloud/209-5hp-1ph-stand-assembly

Description

Index Number

10

11

12

13

14

15

16

17

18

19

Part Number

209-5001

6292804

6292802

TS-1550061

6292651

6292683

6292799

6292798

6292711

6292797

209HH-5010

TS-1550061

TS-1490071

6292796

6292794

6292795

209-5016B

209-5016BC

209-5016BO

209-5016C

209-5016BC

209-5016CO

209-5016F

209-5016DC

209-5016DO

209-5016G

209-5016EC

209-5016EO

6296136

209-5018

209-5019A

209HH-5019A

Description

Strain Relief, Motor & Junction Box
Key

Hex Nut

Flat Washer

Hex Nut

Washer

Adjusting Bolt

Collar

Set Screw

Motor Mount (model 209 only)
Motor Mount (model 209HH only)
Washer

Hex Head Bolt

Bar

Cover

Machine Screw

Magnetic Switch (model 209 only)
Contactor (not shown)

Overload (model 209 only, not shown)
Magnetic Switch (model 209HH only)
Contactor (not shown)

Overload (model 209HH only, not shown)
Magnetic Switch

Contactor (not shown)

Overload (not shown)

Magnetic Switch

Contactor (not shown)

Overload (not shown)

Pan Head Machine Screw

Lock Knob

Stand (model 209 only)

Stand (model 209HH only)

https://jpw-catalog-qa-b2c-2.corevist.cloud/209-5hp-1ph-stand-assembly

Size

M8 x 1.25P

M8

M12 x 1.75P

1/2

M8 x 1.25P x 8L

8.5x23x2T

M8 x 1.25P x 40L

M6 x 1.0P x 20

5HP 1PH 230V

5HP 1PH 230V

5HP 3PH 230V

5HP 3PH 460V

#10-24NC x 1/2L

5/16-18NC x 3/4

Qty

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/209-5hp-1ph-stand-assembly

20

21

22

23

24

25

26

27

28

29

31

32

33

34

35

36

TS-1490031

209-5021

TS-1541031

209-5023

209-5023F

209-5023FC

209-5023CS

209-5023SC

209-5023RC

209-5023B

209-5023F

209-5023FC

209HH-5023

209HH-5023F

209HH-5023FC

209HH-5023CS

209HH-5023SC

209HH-5023RC

209HH-5023C

209-5023F

209-5023FC

209-524

209-525

209-526A

209-526B

209-527A

209-527B

6292805

6292757

TS-0810012

209-5032

209-5033

209-5034

209-5035

209-5036

Hex Cap Screw

Wheel

Nylon Hex Nut

Motor (209)

Motor Fan (not shown)

Motor Fan Cover (not shown)
Centrifugal Switch (not shown)
Start Capacitor (not shown)

Running Capacitor (not shown)

Motor (209)

Motor Fan (not shown)

Motor Fan Cover (not shown)
Motor (209HH)

Motor Fan (not shown)

Motor Fan Cover (not shown)
Centrifugal Switch (not shown)
Start Capacitor (not shown)

Running Capacitor (not shown)

Motor (209HH)

Motor Fan (not shown)
Motor Fan Cover (not shown)
Switch Plate

Strain Relief, Stand

Power Cord

Power Cord

Cord, Motor to Switch

Cord, Motor to Switch

Hex Head Bolt

Machined Screw

Slotted Round Head Machine Screw
Grounding Cord

Cord Connection

Screw

Star Washer

Strain Relief

https://jpw-catalog-qa-b2c-2.corevist.cloud/209-5hp-1ph-stand-assembly

M8 x 1.25P x 20

M8

5HP, 1Ph, 230V

5HP, 3Ph,
230/460V

5HP, 1Ph, 230V

800MFD 250VAC
50mF 350VAC

5HP, 3Ph,
230/460V

1Ph, 300V

3Ph, 600V

1Ph, 300V

3Ph, 600V

M12 x 1.75P x 60L
M5 x 0.8P x 8L

#10-24x1/4

M5 x 0.8P x 6

M5

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/209-5hp-1ph-stand-assembly

37

38

39

40

41

42

43

44

Additional Information

209-5037A

209-5038

PM2000-105

PM2700-440

PM2700-441

TS-0813022

209-5043

209-5044

Junction Box
Junction Box Cover

Powermatic Name Plate

Wide Stripe

Narrow Stripe

Pan Head Screw
Strain Relief, Power & Motor Cord

Strain Relief, Magnetic Switch

1/4-20 x 3/8

1
1

sold per
ft

sold per
ft

2

2

Stock Number

Products in this set

1791296-4

https://jpw-catalog-qa-b2c-2.corevist.cloud/209-5hp-1ph-stand-assembly

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/209-5hp-1ph-stand-assembly

